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INSTRUCCIONES: Relaciona con una linea la expresion algebraica con la respuesta correcta.

7x%y +8x%y +5x%y +5x%y = 8a’- 12ab
4a-5b +3a-2b = -23 x%y?
40%%y — 61x°y = -14a
atb-c~b-c+3c-a= -b
-a’b - 4a*b? + 5a°b + 4a*b?- 5a°b + 8a’b = —18 b?
Xy + Txy+ 14xy + 2xy = 7n-6
-6x%y3 - 16 X%y - X2y = 25x%y
15a’ - 6ab - 8a®- 5ab + a’-ab = 16mn’
8n+5-n-11= -2a’b
-3b? - 15b2 = ~21x%y
-ab—ab + 2ab + 4ab- b - 4ab = 7a’b
= 7% =5x—5x=-5x= 7a-7b
-7mn® + 23mn? = c
20a’b + 15a°b + 9a’b - 15a%b - 31a’b = -22x
10a - 24a = 24xy
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